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1. Kelly throws a tetrahedral die n times and records the number on which it lands for
each throw.

She calculates the expected frequency for each number to be 43 if the die was unbiased.

The table below shows three of the frequencies Kelly records but the fourth one is missing.

Number 1 2 3 4

Frequency 47 34 36 X

(@) Show that x =55

(1)
Kelly wishes to test, at the 5% level of significance, whether or not there is evidence
that the tetrahedral die is unbiased.
(b) Explain why there are 3 degrees of freedom for this test.

(1)
(c) Stating your hypotheses clearly and the critical value used, carry out the test.

()
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Question 1 continued

(Total for Question 1 is 7 marks)
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2. On aweekday, a garage receives telephone calls randomly, at a mean rate of 1.25 per e
i SR8
10 minutes. G
s
RIX
(a) Show that the probability that on a weekday at least 2 calls are received by the 2?3«'3:
. . . R . Koas
garage in a 30-minute period is 0.888 to 3 decimal places. s
@
- . : S
(b) Calculate the probability that at least 2 calls are received by the garage in fewer than §§».x§*‘~
. . - SSPIL
4 out of 6 randomly selected, non-overlapping 30-minute periods on a weekday. §§§¢__}I
)
s
S
The manager of the garage randomly selects 150 non-overlapping 30-minute periods S
on weekdays. 55
. . . . 0% 3 5%
She records the number of calls received in each of these 30-minute periods. KR
%!

(c) Using a Poisson approximation show that the probability of the manager finding at
least 3 of these 30-minute periods when exactly 8 calls are received by the garage is
0.664 to 3 significant figures.

(4)
(d) Explain why the Poisson approximation may be reasonable in this case.

(1)
The manager of the garage decides to test whether the number of calls received on a
Saturday is different from the number of calls received on a weekday. She selects a
Saturday at random and records the number of telephone calls received by the garage in
the first 4 hours.
(e) Write down the hypotheses for this test.

1)
The manager found that there had been 40 telephone calls received by the garage in the
first 4 hours.
(f) Carry out the test using a 5% level of significance.

(4)
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Question 2 continued
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Question 2 continued

(Total for Question 2 is 14 marks)
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3. Acourier delivers parcels. The random variable X represents the number of parcels
delivered successfully each day by the courier where X ~ B (400, 0.64)

Arandom sample X, X,, ... X, is taken.

PUIREE

Estimate the probability that the mean number of parcels delivered each day by the
courier is greater than 257

(4)
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Question 3 continued

(Total for Question 3 is 4 marks)
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4.

Members of a photographic group may enter a maximum of 5 photographs into a
members only competition.

Past experience has shown that the number of photographs, N, entered by a member
follows the probability distribution shown below.

PN=n) | a | 02 | 005 | 025 | b c

1
Given that E(4N +2) =14.8 and P(N=5|N > 2) = 5

(@) show that Var(N) = 2.76
(6)

The group decided to charge a 50p entry fee for the first photograph entered and then 20p
for each extra photograph entered into the competition up to a maximum of £1 per person.
Thus a member who enters 3 photographs pays 90p and a member who enters 4 or 5
photographs just pays £1

Assuming that the probability distribution for the number of photographs entered by a
member is unchanged,

(b) calculate the expected entry fee per member.

3)

Bai suggests that, as the mean and variance are close, a Poisson distribution could be
used to model the number of photographs entered by a member next year.

(c) State a limitation of the Poisson distribution in this case.

1)

10

P 6 6 7 9 9 A0 1 0 2 4

PMT!

SLRRK
KRS,
R8s
Joteotetess

S
KRR

%
S

05
<L
“;r

0

SRS
LS
SRS
Do v 9%
SRS
9%,
e

9
A
s
K]
ava
év

::’A
$
&

%
% %%
CRER
‘NI
K5

¢
09
b9t
I
.V

e

o~
esetets
Vo€
LS
'

R
35055
MY
- X
L

X
SR
3%

KK IR IR ISR IR IGIAIK AR IK

5
%

<KL L IRIELIRIALIRILLR

030209000900, 9.0.0.0. 09,0 9.0.9:9.0:%%

RIS
RLEEIRRLEEIRRLEIILRLEALALL

S IS
R AR RSS
ORI IR RKILRKILRKLL.

s
%5
255

K
X
2

o

5
XXX XX
X
5

(XK
ROSrseasatetetetatotototototototosososoreseietes

QGHK
ot

BoSoseesets
Sogse
e

¥
8K

X
QRS
Josesegetens
25
KL
25

<
%

XK

530K

0
253550

o e
0~
o~ 2
0%

SRS
35555%
SR



6
2RSS
XK

00&%&%%\
SGEISEELS,

RO
SRR
KRS

S

KRKES
%

X
%%

o
2K
boes

RRLRLLRLRARLS

CHAHAA
KERLRLSS
,:‘A»’ o

NSE %
b

S8

RRKS
boes
CKKS

G5
<

%

5

<
55

%
388
[

-
X
%

IR
S

X
oleteds

e

T

209,

b
Petele!
X8
030!
%%}

RRELES, &
0f§'0
ZRRRRKLS

X
R
SRS
odesotese!
RSB

25

255
0%l

KX

1500 %
S

SRR
5K

%
%%
RKK
LKL
<

<
S
S
X
029
8K

S
0
L5
P
5
%

¢
RES
A X KA
RS
A

!
IRKK

%
%

]

o4
%%

KKK

by

bt ?3
S
S
Boss o

Y
&)
‘;.‘.0

FANKIS
R HKIIRILHRKK

0ot
b
Bo%y

9 9
< < 3
X

QAR
:’0’00000
253

(o
58
K
e
%%

<5

%
¢S
2K

S
SRR
000000
LIRS

00
558
joleresessses
DaSetole
hoses
55
RRRILLLAKLEEEE

RRELRS
SEKRRLRR
SRS
QLXK
et

<
o

&
5

SR
%

5

2o

67
KKK
XX

5

5555
55

25
K
poseds

A
AR
o
e
.0

258
?§§§§ ¢ ff
SSLIEIELN

LR ARL XK

s

o2}
o todeteds

KL
KKK

LKL
SRS
ZRLRRLRKLLS

LRKLHEK

OIS
oo

80908

S

!

050598

%
0%
o%
X2
0%
%
b

Question 4 continued

P 6 6 7 9 9 A0 1 1 2 4

11

Turn over »

PMT



Question 4 continued

12

P 6 6 7 9 9 A0 1 2 2 4

PMT!

HRRK
R
SRR
ALK

006
555
o
s
ORI

O
<
‘Qee
555

%
i )%
%9

5
o
X
%o
S0t

KRR IHR

”
b

%

KERRLEARLKEARRLEK

S

GEIRRLEEIREEIRLEY

X
X
X >
0
SIS

ORI

0505
CRKLES

<
58
K

K
PeSolannte%s
DoSecozeio%
SO0 0t
o0 05

QK
s 108
<A o%
S5
P
DoSe? o7t
<AL
2

SRR
(90950509
o



6
2RSS
XK

00&%&%%\
SGEISEELS,

RO
SRR
KRS

S

KRKES
%

X
%%

o
2K
boes

RRLRLLRLRARLS

CHAHAA
KERLRLSS
,:‘A»’ o

NSE %
b

S8

RRKS
boes
CKKS

G5
<

%

5

<
55

%
388
[

-
X
%

IR
S

X
oleteds

e

T

209,

b
Petele!
X8
030!
%%}

RRELES, &
0f§'0
ZRRRRKLS

X
R
SRS
odesotese!
RSB

25

255
0%l

KX

1500 %
S

SRR
5K

%
%%
RKK
LKL
<

<
S
S
X
029
8K

S
0
L5
P
5
%

¢
RES
A X KA
RS
A

!
IRKK

%
%

]

o4
%%

KKK

by

bt ?3
S
S
Boss o

Y
&)
‘;.‘.0

FANKIS
R HKIIRILHRKK

0ot
b
Bo%y

9 9
< < 3
X

QAR
:’0’00000
253

(o
58
K
e
%%

<5

%
¢S
2K

S
SRR
000000
LIRS

00
558
joleresessses
DaSetole
hoses
55
RRRILLLAKLEEEE

RRELRS
SEKRRLRR
SRS
QLXK
et

<
o

&
5

SR
%

5

2o

67
KKK
XX

5

5555
55

25
K
poseds

A
AR
o
e
.0

258
?§§§§ ¢ ff
SSLIEIELN

LR ARL XK

s

o2}
o todeteds

KL
KKK

LKL
SRS
ZRLRRLRKLLS

LRKLHEK

OIS
oo

80908

S

!

050598

%
0%
o%
X2
0%
%
b

Question 4 continued

(Total for Question 4 is 10 marks)
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5.

14

Asha, Davinda and Jerry each have a bag containing a large number of counters, some
of which are white and the rest are red.

Each person draws counters from their bag one at a time, notes the colour of the counter
and returns it to their bag.

The probability of Asha getting a red counter on any one draw is 0.07

(a) Find the probability that Asha will draw at least 3 white counters before a red
counter is drawn.

)
(b) Find the probability that Asha gets a red counter for the second time on her 9th draw.
()

The probability of Davinda getting a red counter on any one draw is p.
Davinda draws counters until she gets n red counters. The random variable D is the
number of counters Davinda draws.

Given that the mean and the standard deviation of D are 4400 and 660 respectively,

(c) find the value of p.
(4)

Jerry believes that his bag contains a smaller proportion of red counters than Asha’s bag.
To test his belief, Jerry draws counters from his bag until he gets a red counter. Jerry
defines the random variable J to be the number of counters drawn up to and including
the first red counter.

(d) Stating your hypotheses clearly and using a 10% level of significance, find the
critical region for this test.

()
Jerry gets a red counter for the first time on his 34th draw.

(e) Giving a reason for your answer, state whether or not there is evidence that Jerry’s
bag contains a smaller proportion of red counters than Asha’s bag.

)
Given that the probability of Jerry getting a red counter on any one draw is 0.011

(F) show that the power of the test is 0.702 to 3 significant figures.
®)

P 6 6 7 9 9 A 0 1 4 2 4
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Question 5 continued
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6.

The probability generating function of the random variable X is
G, (1) = k(1 +2t)°
where K is a constant.

(@) Show that k = L
243

(b) Find P(X=2)
(c) Find the probability generating function of W =2X + 3

The probability generating function of the random variable Y is

t(1 + 2t)°

G,M)="

Given that X and Y are independent,

(d) find the probability generating function of U =X + Y in its simplest form.

(e) Use calculus to find the value of Var(U)

(2)

(2)

(2)

(2)

(6)
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7.

A manufacturer has a machine that produces lollipop sticks.
The length of a lollipop stick produced by the machine is normally distributed with
unknown mean x and standard deviation 0.2

Farhan believes that the machine is not working properly and the mean length of the
lollipop sticks has decreased.
He takes a random sample of size n to test, at the 1% level of significance, the hypotheses

Hyu=15  Hiu<15

(a) Write down the size of this test.

(1)
Given that the actual value of x is 14.9

(b) (i) calculate the minimum value of n such that the probability of a Type Il error is
less than 0.05
Show your working clearly.

(6)

(it) Farhan uses the same sample size, n, but now carries out the test at a 5% level of
significance. Without doing any further calculations, state how this would affect
the probability of a Type Il error.

1)
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Question 7 continued

(Total for Question 7 is 8 marks)

TOTAL FOR PAPER IS 75 MARKS
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